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1. Let x;; = oz of chemical ¢ used to produce drug j,¢=1,2,5 = 1,2.

max 6 (w11 + 221) + 5 (212 + 222) — 6 (211 + 212) — 4 (221 + T22)
sit. w11 > 0.6 (w11 + 721)
Zog > 0.5 (z12 + z22)
r11 + x21 < 100
T12 + x22 < 90
r11 + 212 < 130
Zo1 + 222 < 80
vy >0 Vi=1,2,5=1,2.

2. Let w = min{xy, 22}. The linearized LP is

max bw + 3x2

st w<a
w < 9
z1 <16
To < 16
T + 4 < 20
To > 8
r; >0 Vi=1,2.

3. Let s = min{zy, 29 + 23}, t = max{xs,z1 + x3}, v = min{xy, 22 + 4}, v = max{z;,4xs — x3,6}.
The linearized LP is

max 5Hs— 3t

s.t. s<ux

s < a2+ a3
t> xo
t>x + a3
x1 > 16 — x4
x1 > x1 — 16
u < a1
u<xzo+4
V> T

v > 4dxy — 23
v>06

u>v

z; >0 Vi=1,2,3.



